Vocas Systems b.v. info@vocas.com www.vocas.com
Flexible camera rig, FCR-15

Page: 1/1

Vesas

0350-3000

Version Date: 15-2-2019 13:53
Item No Part Numbe | Qty Description
1 11.007.01 1 Ring 4,3x8x0,5 Din 433 St-Zn
2 09.033.01 1 Spring C145 5.63x0,63x8,5L
3 04.201.01 1 Lock knob M4
4 04.202.01 1  Screw M4x70 din 965 4.8Zn
5 04.203.01 1 04.203.01 ARCA clamp
6 0350-3050 1 Arcaplate 73 mm
7 04.206.01 1 Tube 19mm x 90 mm
8 768001 3  Screw M5x16 DIN 912 A2 70
9 0350-9210 2  Pipe 210 mm. Sony Assy
10 04.200.02 1 Camerarig base plate
11 99.036.02 1  Sub assy Clamping block side ways with winged nuts
12 774002 1 Unbrako DIN911 4 kort
13 04.210.01 1 Shoulder pad DSLR Assy
14 04.215.01 1 Dogbone small
15 04.207.01 2  Captive spring
16 05.247.01 2  Screw M2,5X6 DIN912 A2 70
17 04.208.01 1 Locknutll
18 04.216.02 1 Lockleverlll
19 04.217.01 1  Screw M4X30 Din 912 Zn
20 04.218.01 1 Nut M4 DIN 985 8 Zn
21 04.219.01 1 Bearing plate
22 11.227.01 2 Pin3h6 X 16 DIN7 — Al




